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NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 14 (24.11.2024)    20x4=80 MARKS 

 

Botany: Microbes in human welfare, Zoology: Animal Kingdom 

Chemistry: p-block elements (15,16,17 & 18), Physics: Waves 

 

1. Which of the following statements is not related to 

toddy? 

1) Prepared by fermentation of coconut water 

2) Traditional drink in some parts of Northern 

India 

3) Jaggery is produced by boiling it 

4) Arrack is obtained from toddy 

 

2. What do we collectively call the biogas producing 

bacteria? 

1) Archaebacteria 

2) Cyanobacteria 

3) Eubacteria 

4) Methanogens 

 

3. The vitamin whose content increases following 

the conversion of milk into curd by lactic acid 

bacteria is 

1) vitamin C 

2) vitamin D 

3) vitamin B12 

4) vitamin E 

 

4. The purpose of biological treatment of waste 

water is to 

1) reduce BOD 

2) increase BOD 

3) reduce sedimentation 

4) increase sedimentation 

 

5. An example of endomycorrhiza is ____ 

1) Agaricus 

2) Rhizobium 

3) Glomus 

4) Nostoc 

 

1. gpd;tUk; $w;Wfspy; vJ fs;Sld; 
njhlu;GilaJ my;y? 

1) Njq;fha; jz;zPu; nehjpj;jy; %yk; 
jahupf;fg;gLfpwJ 

2) tl ,e;jpahtpd; rpy gFjpfspy; ghuk;gupa 
ghdk; 

3) nty;yk; nfhjpf;f itg;gjd; %yk; 
jahupf;fg;gLfpwJ 

4) muf;F fs;spy; ,Ue;J ngwg;gLfpwJ 

 

2. capu;thAit cUthf;Fk; ghf;Bupahit $l;lhf 

,ij miof;fpNwhk;? 

1) Mu;f;fpghf;Bupah 
2) raNdhghf;Bupah 
3) A+ghf;Bupah 
4) nkj;jNdhn[d;fs; 

 

3. yhf;bf; mkpy ghf;Bupahthy; ghy; japuhf 
khw;wg;gl;lijj; njhlu;e;J mjd; cs;slf;fk; 
mjpfupf;Fk; itl;lkpd; 
1) itl;lkpd; C 

2) itl;lkpd; D 

3) itl;lkpd; B12 

4) itl;lkpd; E 

 

4. fopT ePupd; capupay; Rj;jpfupg;G Nehf;fk; 
1) BODIf; Fiwf;fTk; 
2) BODI mjpfupf;fTk; 
3) tz;ly; Fiwg;G 
4) tz;ly; mjpfupg;G 

 

5. vz;NlhikNfhiurhtpd; cjhuzk;__ 

1) mfhupf]; 
2) iuNrhgpak; 
3) FNshk]; 
4) eh];lhf; 
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6. Observe the given diagrams and select the option 

that identifies the structure incorrectly. 

 
1) Structure (a) is found in annelids, molluscs, 

arthropods, echinoderms, hemichordates and 

chordates. 

2) Structure (b) is present in aschelminthes in 

which the body cavity is lined by mesoderm 

completely. 

3) Structure (c) is present in platyhelminthes. 

4) In structure (c), there is no cavity between the 

body wall and gut wall. 

 

7. Select the group of animals that possess closed 

type of circulation. 

1) Earthworm, Silkworm, Tongueworm 

2) Salamander, Earthworm, Turtle 

3) Roundworm, Tongueworm, Honeybee 

4) Lizard, Earthworm, Tongueworm 

 

8. Complete the analogy and select the correct 

option. 

Water canal system : Bath sponge :: Water 

vascular system : ___ 

1) Sea hare 

2) Sea lily 

3) Sea pen 

4) Sea fan 

 

9. How many of the given statements are correct? 

a. Cyclostomes are the most primitive living 

marine vertebrates and are ectoparasites on 

fishes. 

b. Avian skin is moist with glands. 

c. Mammalian skin is unique in possessing hair. 

d. Echinoderms have a well organised excretory 

system. 

Select the correct option. 

1) a, b and c 

2) a and c 

3) b, c and d 

4) a, c and d 

 

10. Select the second largest phylum of animal 

kingdom. 

1) Arthropoda 

2) Mollusca 

3) Echinodermata 

4) Hemichordata 
 

6. nfhLf;fg;gl;l tiuglq;fisf; ftdpj;J> 
jtwhd mikg;igf; fz;lwpf. 

 
1) mikg;G (a) vd;gJ tisjirAlypfs;> 

nky;Ylypfs;> fZf;fhypfs;> 
Kl;Njhypfs;> miuehzpfs; kw;Wk; 
KJnfYk;gpfspy; fhzg;gLfpwJ. 

2) cly; Fop KOtJk; eLg;gil G+r;rhf 

,Uf;Fk; cUisGOf;fspy; mikg;G (b) 

cs;sJ. 

3) mikg;G (c) jl;ilGOf;fspy; cs;sJ. 

4) mikg;gpy; (c)> cly; RtUf;Fk; Fly; 
RtUf;Fk; ,ilapy; Fop ,y;iy. 

 

7. %ba tif Rw;Nwhl;lj;ijf; nfhz;bUf;Fk; 
tpyq;Ffspd; FOitj; Nju;e;njLf;fTk;. 
1) kz;GO> gl;Lg;GO> ehf;F GO 

2) rhykz;lu;> kz;GO> Mik 

3) cUz;ilg;GO> ehf;Fg;GO> NjdP 
4) gy;yp> kz;GO> ehf;Fg;GO 

 

8. xg;Gikia G+u;j;jp nra;J rupahdijj; Nju;e;njL 
ePu; fhy;tha; mikg;G : Fspay; flw;ghrp :: ePu; 
th];Fyhu; mikg;G : ___ 

1) fly; Kay; 
2) fly; my;yp 
3) fly; Ngdh 
4) fly; tprpwp 

 

9. nfhLf;fg;gl;l $w;Wfspy; vj;jid rupahdit? 

a. irf;Nsh];Nlhk;fs; kpfTk; goikahd 
thOk; fly; KJnfYk;Gfs; kw;Wk; 
kPd;fspy; xl;Lz;zpfs;. 

b. gwit Njhy; Rug;gpfs; <ukhf cs;sJ. 

c. ghY}l;bfspd; Njhy; Kbia itj;jpUg;gjpy; 
jdpj;JtkhdJ. 

d. Kl;Njhypfs; ed;F xOq;fikf;fg;gl;l 

fopTePf;f mikg;igf; nfhz;Ls;sd. 

rupahdijj; Nju;e;njLf;fTk;. 
1) a, b and c 

2) a and c 

3) b, c and d 

4) a, c and d 
 

10. tpyq;F cyfj;jpd; ,uz;lhtJ ngupa 

njhFjpiaj; Nju;e;njLf;fTk;. 
1) fZf;fhypfs; 
2) nky;Ylypfs; 
3) Kl;Njhypfs; 
4) miuehzpfs; 
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11. Ionic radii (in Å) of As3+, Sb3+ and Bi3+ follow 

the order 

1) As3+ > Sb3+ > Bi3+ 

2) Sb3+ > Bi3+ >As3+ 

3) Bi3+ > As3+ > Sb3+ 

4) Bi3+ > Sb3+ > As3+ 

 

12. The catalyst used in the manufacture of HNO3 by 

Ostwald’s process is: 

1) platinum gauze 

2) vanadium pentoxide 

3) finely divided nickel 

4) platinum black 

 

13. One mole of calcium phosphide on reaction with 

excess water gives 

1) one mole of phosphine 

2) two moles of phosphoric acid 

3) two moles of phosphine 

4) one mole of phosphorus pentoxide 

 

14. Chlorine is liberated when we heat 

1) KMnO4 + NaCl 

2) K2Cr2O7 + MnO2 

3) Pb(NO3)2 + MnO2 

4) K2Cr2O7 + HCl 

 

15. In XeF2, XeF4, XeF6 the number of lone pairs on 

Xe are respectively 

1) 2, 3, 1 

2) 1, 2, 3 

3) 4, 1, 2 

4) 3, 2, 1 

 

16. The equation of a transverse wave is given by y 

= 10 sin π(0.01x – 2t) where x and y are in cm 

and t is in second. Its frequency is 

1) 10 sec–1 

2) 2 sec–1 

3) 1 sec–1 

4) 0.01 sec–1 

 

17. Which of the following is not true for the 

progressive wave y = 4 sin 2π [
t

0.02
−

x

100
] when 

x and y are in cm and t is in seconds 

1) amplitude is 4 cm 

2) wavelength is 100 cm 

3) frequency is 50 Hz 

4) speed of propagation is 2 cms–1 

 

11. As3+, Sb3+ kw;Wk; Bi3+ Mfpatw;wpd; madp 
Muq;fs; (Å ,y;) ve;j tupiriag; 
gpd;gw;Wfpd;wd? 
1) As3+ > Sb3+ > Bi3+ 

2) Sb3+ > Bi3+ >As3+ 

3) Bi3+ > As3+ > Sb3+ 

4) Bi3+ > Sb3+ > As3+ 

 

12. M];l;thy;bd; Kiwapy; HNO3 jahupg;gpy; 
gad;gLj;jg;gLk; tpidA+f;fp: 
1) gpshl;bdk; tiy 

2) ntdbak; ngd;lhf;irL 

3) ed;F gpupf;fg;gl;l epf;fy; 
4) gpshl;bdk; fUg;G 

 

13. xU Nkhy; fhy;rpak; gh];igL mjpfg;gbahd 
ePUld; tpidGupAk; NghJ nfhLg;gJ 

1) xU Nkhy; gh];igd; 
2) ,uz;L Nkhy; gh];Nghupf; mkpyk;  
3) ,uz;L Nkhy; gh];igd; 
4) xU Nkhy; gh];gu]; ngd;lhf;irL 

 

14. fPo;fz;l vij R+lhf;Fk;NghJ FNshupd; 
ntspaplg;gLfpwJ? 
1) KMnO4 + NaCl 

2) K2Cr2O7 + MnO2 

3) Pb(NO3)2 + MnO2 

4) K2Cr2O7 + HCl 

 

15. XeF2, XeF4, XeF6 ,y; Xe ,y; cs;s jdpj;j 
,ul;ilfspd; vz;zpf;if KiwNa 

1) 2> 3> 1 

2) 1> 2> 3 

3) 4> 1> 2 

4) 3> 2> 1 

 

16. FWf;F miyapd; rkd;ghL y = 10 sin π(0.01x – 

2t) My; nfhLf;fg;gLfpwJ> ,q;F x kw;Wk; y cm 
,y; kw;Wk; t s ,y; ,Uf;Fk;. mjd; mjpu;ntz; 
1) 10 sec–1 

2) 2 sec–1 

3) 1 sec–1 

4) 0.01 sec–1 

 

17. x kw;Wk; y nr.kP kw;Wk; t tpdhbfspy; 
,Uf;Fk;NghJ Kw;Nghf;fhd miy y = 4 sin 2π 

[
t

0.02
−

x

100
] f;F gpd;tUtdtw;wpy; vJ rhpay;y 

1) tPr;R 4 cm 

2) miyePsk; 100 cm 

3) mjpu;ntz; 50 Hz 

4) gug;Gjypd; Ntfk; 2 cms–1 
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18. In brass the velocity of longitudinal wave is 100 

times the velocity of transverse wave. If Y = 1 x 

1011 N/m2, then stress in the wire is 

1) 1 x 1013 Nm–2 

2) 1 x 109 Nm–2 

3) 1 x 1011 Nm–2 

4) 1 x 107 Nm–2 

 

19. The temperature at which the speed of sound in 

air becomes double of its value at 27ºC is 

1) 927 K 

2) 1200ºC 

3) 927ºC 

4) 600ºC 

 

20. The vibrations of 4 air columns are shown the 

ratio of the frequency of A, B, C and D is 

 
1) 12: 6: 3: 4 

2) 1: 2: 4: 3 

3) 4: 2: 3: 1 

4) 6: 2: 3: 4 

 

18. gpj;jisapy; ePs miyapd; Ntfk; FWf;F 

miyapd; Ntfj;ij tpl 100 klq;F mjpfk;. Y 

= 1 x 1011 N/m2 vdpy;> fk;gpapy; mOj;jk; 
1) 1 x 1013 Nm–2 

2) 1 x 109 Nm–2 

3) 1 x 1011 Nm–2 

4) 1 x 107 Nm–2 

 

19. fhw;wpy; xypapd; Ntfk; 27ºC ,y; mjd; kjpg;ig 
tpl ,ul;bg;ghFk; ntg;gepiy 

1) 927 K 

2) 1200ºC 

3) 927ºC 

4) 600ºC 

 

20. nfhLf;fg;gl;Ls;s 4 fhw;W neLtupirfspd; 
mjpu;Tfs; A, B, C kw;Wk; D ,d; 
mjpu;ntz;zpd; tpfpjk; 

 
1) 12: 6: 3: 4 

2) 1: 2: 4: 3 

3) 4: 2: 3: 1 

4) 6: 2: 3: 4 

 
 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


..

 

NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 14 (24.11.2024)    20x4=80 MARKS 

 

Solution 

1. Answer: (2) 

2. Answer: (4) 

3. Answer: (3) 

4. Answer: (1) 

5. Answer: (3) 

6. Answer: (2) 

7. Answer: (2) 

8. Answer: (2) 

9. Answer: (2) 

10. Answer: (2) 

 

11. Answer: (4) 

 

Botany: Microbes in human welfare, Zoology: Animal Kingdom 

Chemistry: p-block elements (15,16,17 & 18), Physics: Waves 

Ionic radii increases down the group 

 

12. Answer: (1) 

4NH3+5O2 
  Pt.gauge  
→        4NO + 6H2O 

 

13. Answer: (3) 

Ca3P2 + 6H2O → 3Ca(OH)2 + 2PH3 ; i.e 2 

moles of phosphine are produced from one 

mole of calcium phosphide. 

 

14. Answer: (4) 

K2Cr2O7 +conc.HCl → Cl2 

 

15. Answer: (4) 

 

16. Answer: (3) 

y Asin (x vt)


 


 

We have v = 200cm/sec,  = 200cm 

1v
n 1sec  


 

t x

T

   
 --------- (1) 

The given equation is  

y = 4 sin 2 
t x

0.02 100

  
 

 ---------- (2) 

From (1) and (2) 

A = 4 cm; T = 0.02s  

 
2

1 1 100
f

T 2 x10 2
    = 50 Hz 

 = 100 cm = 1m 

Speed v = n = 50 x 1 = 50 ms
-1 

L

Y
V

d
    ----- (1) 

Velocity of transverse wave, 

17. Answer: (4) 

18. Answer: (4) 

T 2

T T
V

r d
 

 
 ----- (2) 

2

L

T

Veq (1) Y r d Y
x

eq(2) V d T stress


    

or 
2 11

L

22 2

T
L

T

V Y ' Y 1x10
stress

V stress (100)V

V

   
 
 
 

 

= 1 x 10
7
 Nm

-2
 

 Comparing with the standard equation, 

2

 The progressive wave equation is 

y = a sin 2 

 Velocity of longitudinal wave in brass, 

1 1 2

2 2

V T T2V

V T V 300
    

 T2 = 927
o
C 

19. Answer: (3) 

20. Answer: (2) 

1 2 3 4

V V V 3V
n ; n ; n ; n :

4 2 4
  
l l l l

 

n1 : n2 : n3 : n4 = 
1 1 3

: : 1 :
4 2 4

 

= 1 : 2 : 4 : 3 
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